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Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All

guestions are compulsory.

Paper-I111

1. In E.P. Royappa case which of the In which of the following judgements
Supreme Court Judge propounded it was held that according to Art.
the new concept of Equality as 226, Courts are flooded with large
“Equality is a dynamic concept with number of PIL, so it is desirable for
many aspects and dimensions and it Courts to filter out frivolous petitions
cannot be ‘crippled, combined and and dismiss them with costs ?
confined’ within traditional and (A) Deepak Sharma Vs Vineeta Sharma
doctrinaire limits” ? (B) Dharampal Vs State of Uttar
Eé\)) jus:!ce IIRI/ é:;landrag[hud Pradesh

ustice =.IN. Bhagawall (C) Holicow Pictures Pvt. Ltd. Vs
(g) jus{!ce \é.E.CKr:!shna IyRerdd Premchandra Mishra
(D) Justice O.P. Chinnapa Reddy (D) M.C. Mehta Vs Union of India

2.  The State shall make provisions for ) )
securing just and humane conditions A resolution for the revocation of the
of work and for maternity relief is mg;'ggﬂg%dou\'aﬂonm Emergency
found
(A) As a part of the Preamble to the (A) Ten members of Lok Sabha

Constitution of India. (B) One-fifth of the total
(B) As a Fundamental Right under membership of the Lok Sabha.
Art. 21 of the Constitution of (C) One-tenth of the total
C K‘d'a-D_ tive Princiole of th membership of the Lok Sabha.
© St%t?a Pt;{fccyfve fincipie ot the (D) One-fifteenth of the total
(D) As a Fundamental Duty of the membership of the Lok Sabha.
State. Answer the following using the

3. Fundamental duties under Part IVA codes given below : _
was inserted in the Constitution by Administrative Law deals with :

(A) 17:: Amendment (i) Composition, powers and

(B) 25" Amendment functions of the administrative

©) 42;‘;j Amendment authorities.

(D) 447 Amendment (ii) Procedures to be followed by
. . the administrative authorities in

4. ;r;e powers of the President of India the exercise of their powers and
(A) Supra-Constitutional functions.

(B) Beyond the Constitution (iii) Methods of control of powers of
(C) In  accordance with the . the adn_unlstra_\tlve authorities. .
Parliament of India (iv) Remedies available to a person in
() In accordance with the the aaminietatve authortes.
Constitution of India '
Codes :

5. Which one of the following has been N i

considered as authority of power ? (A) Only (!) 1S cor_r_ect.

(A) The Constitution of India (B) Only (i) and (ii) are correct.

(B) The President of India (C) Only (i), (i) and (iii) are
(C) The Parliament of India correct.

(D) The Supreme Court of India (D) All of the above are correct.
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(B) U=HrEat GemEa

(C) ATgar Geme

(D) diarcigar Geme

Y o AT bt Vel &

(A) Giag= d 3

(B) dfogmm

(C) 9RA & TET & AR
(D) R & HEH & AR

=1 & 9 fopg T =l wifek AT T € 2
(A) ¥R T Giaa=

(B) e o Tl

(C) 9Rd &l ¥8g

(D) WRA T STIIH =TT
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10.

11.

Read Assertion (A) and Reason (R) and

with the help of codes given below,

point out the correct explanation :

Assertion (A) : One of the principles
of natural justice is, ‘No man
shall be judge in his own cause’.

Reason (R) : Principles of natural
justice require fair play in action.

Codes :

(A) (A) and (R) are true and (R) is
the correct explanation of (A).

(B) (A) and (R) are true, but (R) is
not the correct explanation of
(A).

(C) (A)istrue and (R) is false.

(D) (A)is false and (R) is true.

Match List-1 with List-11 and indicate

the correct answer using the codes

given below :
List—1 List—11
(@ A.K. Kraipak (i) Post-
Vs. Union of decisional
India hearing
(b) Manak Lal Vs. (ii) Personal
Dr. Prem bias
Chand
(c) Maneka Gandhi (iii) Pecuniary
Vs. Union of bias
India
(d) Olga Tellis Vs. (iv) Reasonable
Bombay opportunity
Municipal of hearing
Corporation
Codes :
a M © (@
(A) 8 §ug (i) (1v)

(B) (1) (1) (iv) (if)

(C) () (i) (i)  (iv)

(D) (i) (i) (v) (i)

Answer the following using the

codes given below :

Which of the following doctrines

were developed by the Court to

control the administrative actions ?

(i)  Doctrine of Promissory Estoppel.

(i) Doctrine of Legitimate
Expectations.

(iti) Doctrine of Separation of
Power and Rule of Law.

(iv) Judicial Activism.

Codes :

(A) Only (i), (i) and (iii) are correct.

(B) Only (ii) and (iv) are correct.

(C) Only (i) and (iii) are correct.

(D) All of the above are correct.
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12.

13.

14.

15.

Answer the following using the

codes given below :

In which of the following grounds

the  judicial review of an

administrative action be made ?

(i)  Abuse of discretion

(i) Mala fide or Bad faith

(iii)  Irrelevant consideration

(iv) Unreasonableness

Codes :

(A) Only (i), (ii) and (iii) are correct.

(B) Only (i) and (ii) are correct.

(C) Only (ii) and (iii) are correct.

(D) All (i), (ii), (iii) and (iv) are
correct.

A writ of mandamus will not lie

against

(A) President of India

(B) Parliament

(C) Local authorities

(D) Courts and Tribunals

Match List-I with List-11 and indicate
the correct answer using the codes

given below :
List— I List—11
(@) Bring the body (i) Writ of
before the Court Manda-
mus
(b) Petitioner’s legal (if) Writ of
right to compel the Certio-
performance of rari
public duty
(c) By what authority  (iii) Writ of
a person is holding Habeas
the public post Corpus
(d) Action of (iv) Writ of
subordinate Court Quo-
in violation of the warranto
principles of
natural justice
Codes :
(@ () © ()
(A) (i) (i) (i) (iv)

(B) (i) (i) (iv) (i)

(C) (i) (i) () (iv)

(D) (i) (iv) (i) (i)

Which one of the following States
has not yet established the institution
of Lokayukta ?

(A) Uttar Pradesh

(B) Karnataka

(C) Uttarakhand

(D) None of the above
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(C) (i) (i) (i) (iv)

(D) (i) (iv) (i) (i)
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16.

17.

18.

19.

20.

(A) Sie utere tero

(B) Re Legitima

(C) Jus turtii

“A legal person is any subject matter
other than a human being to which
law attributes personality.” Who said
these words ?

(A) Savigny (B) Bentham
(C) Austin (D) Salmond
“Pure theory of Law is an exercise in
logic and not life.” This observation

was made by
(A) Pound (B) Savigny
(C) Maine (D) Harold Laski

“Law is derived from social facts and

not dependent on State authority but

on social compulsion.” Who said
this ?

(A) Putchta (B) Ehrlich

(C) Friedman (D) Pound

Which one of the following pairs is

not correctly matched ?

. To use your own
property as not to
injure your
neighbour’s right

: A person cannot
dispose of his
entire property

out alierum
non laedas

Portis

third person other
than himself or

the plaintiff
(D) Nec vinec . Possession must
calur precario  show to the
competitor

Assertion (A) : In India the
distinction between legal and

equitable ownership is not
recognised.
Reason (R) The trustees are,

subject to the law relating to
trust and trustees, bound to
carry out the trust according to
the dictates of the maker of the
trust.

Examine the above statements (A) and

Reason (R) and select whether the

reason is a correct explanation of the

assertion using the codes given below :

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) istrue, but (R) is false.

(D) (A)is false, but (R) is true.

Paper-I111

. To set up title of a

21.

22.

23.

24,

25.

The purpose theory is based on the
assumption that “person is applicable
only to human beings; they alone can
be the subjects of rural relations”.
Who developed this theory of Brinz
in England ?

(A) Barker (B) Duguit
(C) Salmond (D) Hoffman

“Ownership in its comprehensive
signification, denotes the relation
between a person and any right that
is vested in him. That which a man
owns in this sense is in all cases a

right.”

Who is the exponent of this theory ?
(A) Miss Tay (B) Maitland
(C) Salmond (D) Fuller

“Legal rights are institutional rights
to decisions in Courts. Institutions
about  justice  presuppose a
fundamental right, namely, the right
to equality, which I call the right to
equal concern and respect.”

Who propounded this theory in
relation to natural rights ?

(A) Dworkin

(B) Fuller

(C) Jerome Hall

(D) Professor Hart

Fill in the gap that is most
appropriate.

Who ever entices a girl child of less
than 16 years has said to have caused
kidnapping out of the keeping of the
lawful

(A) Parents

(B) Foster parents

(C) Adopted parents

(D) Guardians

Fill in the gap with the offence that
the accused has committed.

Who ever dishonestly uses any
moveable property to his own
advantage has committed the offence
of :

(A) Breach of trust

(B) Wrongful gain

(C) Misappropriation

(D) None of the above

J-58-13
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17.

18.

19.

20.
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(C) (A) W&, W= (R) Tod & |

(D) (A) Terd €, W= (R) W&l & |
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21.

22.

23.

24,

25.
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26.

27.

Read Assertion | and Reason Il and
with the help of codes given below
point out the correct explanation.
Assertion | : Moral derangement is a
state of will and turns to be the
vehicle of vicious actions.

Reason Il : Crime is committed
under the influence of
instructive  and irresistible
impulse.

Codes :

(A) Moral insanity or imbecility are
not exempted from criminal
liability as per Section 53 of
IPC.

(B) Both I and Il are correct
statements to attract criminal
liability as per Section 53 IPC
as both are diabolical criminal
conduct.

(C) Only by I criminal
responsibility can be fixed but
not with the help of I.

(D) McNaghten’s Rule can be
applied in I but not in I1.

Read Assertion | and Reason Il and

with the help of given codes point

out the correct explanation.

Assertion | : Consent of husband or
wife of the victim does not
grant immunity from the
offence of bigamy.

Reason Il : Sexual offence with the
consent of one spouse does not
fix liability for adultery.

Codes :

(A) | is correct, but not with the
reason of I1.

(B) I is correct, but with the
support of II.

(C) 1 is only the correct
proposition while I is void.

(D) 1l is valid when 1 is not
admissible.
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28.

29.

30.

Read Assertion | and Reason Il and
with the help of codes given below
point out the correct explanation.
Assertion | : To establish a charge of
conspiracy, knowledge about
indulgence in an illegal act by
certain legal means, is necessary.

Reason Il : The normal rule is that
when a particular unlawful use
being intended has to be
inferred from the chain of
actions.

Codes :

(A) I is the judicious cause of
conspiracy, because Il is the
correct explanation.

(B) 1l is more appropriate explanation
than merely fixing charge as per I.

(C) listhe correct proposition as Il
is optional.

(D) lis not correct because as per 1l
there must be pre-meditation.

Read Assertion | and Reason Il and

with the help of codes given below

point out the correct explanation.

Assertion | : Publishing a report of
proceedings of a Court will not
amount to defamation.

Reason Il : It is an exception to the
principle of defamation.

Codes :

(A) I is true, because Il is the

specific objective.
(B) [listrue, but Il is not the correct

proposition.

(C) 1l is always true, because I is
not dependent.

(D) 1l is false, because | is always

independent of criminal liability.
Read Assertion | and Reason Il and
with the help of codes given below
point out the correct explanation.
Assertion | : Independently putting a
person in fear of injury to
another is extortion.

Reason Il : It is an exception to the
rule of delivering the valuable
security.

Codes :

(A) listrue, but Il is not the correct
statement.

(B) I is true, because Il is the
correct proposition.

(C) Both I and Il are independent
of proof.

(D) Both I and Il are false.
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26.

27.

MR - | 3R aeh - |1 =i uigy 3}

T ST T $i B FerEdT ¥ el AR

fegfa =i -

AWHYA - | : THTH ST 9T Sl
ferfa & iR g8 omfad @t @
T T TehH AT & |

qE- |1 ;TR FEeees 3K emfaRre
ey ¢, fogs ma H Ty
FIRT BT & |

(A) YRAE T dfear ®f 9™ 53 &
IR Al 318 AT STea g
H MRIH A T IR T
T STaT € |

(B) 1 3R Il I W&l FH & S IRAE
3T dfedr W UR 53 % SEER
SR T <l SMHTT HT &,
HIITH T X STRITHH SR E |

(C) =aa Il & FRT IIMEH I
T foRam ST Gehal €, Wi |
TErdl @ &l |

(D) e & | | @Ay fear S
el €, wAfeh |1 H el |

TR - | AT HROT - || T Ui 317

@ ™ ffafed g2 w9

3tad AT & Yg SHived

AfHe - | ; Oifed =t & ge At
ofd # A oA &H H
“fg-fgeme” & e ¥ gl @l
et STt |

HROT - || : UH Gl S ST I T
T AN ST SR 3T Y
ot o & S |

ETE

(A) | T &, AT HROT - || F T
erall

(B) | W& & wfeh HROT -
AT |

(C) et Il & &t ufaure= & e |
TIE |

(D) 1l 37 & STafh | STl € |

I =
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29.

30.

TEME |

T

(A) | Tg3F w1 fgemyel w@ &, Hife
|| 9} e § |

(B) | % 3TER Hacl RIT T H H
37T || STk T S § |

(C) | W& WiquTe &, STaieh || Jehicdsh & |

(D) | W& 7 &, i || & FER &
e g =feT |

MR - | 3T T - || =i Uiy 3R

e T el o e ¥ T AT H

fargfe i

AHHAT - | AT B HEAR! i
fae vy wr AR @l
TrEl S |

T - I%l : g AR o [Ggid &1 2T0ams

|

&<

(A) | TE &, Fi || e sEea e |

(B) | W@l &, Ak 11 W ufeare & € |

(C) |1 &R W&l &, =Hifen | oniad i & |

(D) |l TToiq €, Tk | BHM TR
AT Y @AT € |

Mo - | 3 % - || &l uley 3%

T9 T T P H Gewdr d T

TN i g HIFT

atfirreE - | ; Tt safe o Todd &9
T 39 v ¥ % g oAt & atfa
HINT & 98 & ¢ |

a® - |l : I8 Joga T o & Fag
% TH AR ¢ |

T

(A) | T e AfehT || TE P T/

(B) | @&l ¢ Hifer || Wl wieque & |

(C) 13RIl THT y=1oT | Wi & |

(D) 13X 11 S TTord € |
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31.

32.

33.

Read Assertion | and Reason Il and

with the help of codes given below

find out the correct explanation.

Assertion | : Disorder of mind which
impairs the mental faculties is
known as unsoundness of mind
as such it acts as defence to a
criminal charge.

Reason Il : Insanity is the mental
abnormality and when it
impairs the cognitive faculty
and if an act results during that
period criminal liability could
be exempted.

Codes :

(A) By I there is transgression of
harmful acts while 1l refers to
established rules of society for
which no prosecution stands.

(B) Both I and Il are correct
explanations as per Section 84
of IPC.

(C) 1l is more precise while 1 is
only a supportive factor.

(D) The true test of I and Il is to
apply Mc Naghten’s Rule.

The Air (Prevention and Control of

Pollution) Act, 1981, and the

Environment (Protection) Act, 1986,

were passed by the Parliament

under :

(A) Article 252 of the Constitution
of India.

(B) Article 253 of the Constitution
of India.

(C) Article 250 of the Constitution
of India.

(D) None of the above.

Which of the following Judges of the
Supreme Court is famously known as
the “Green Judge” ?

(A) Justice V.R. Krishna lyyar

(B) Justice P.N. Bhagwati

(C) Justice Kuldip Singh

(D) Justice B.N. Kirpal

Paper-I111
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34.

35.

36.

37.

38.

Which of the following Articles of
the Constitution of India have been
mostly used by the Supreme Court to
protect environment ?

(A) Article 32

(B) Article 21

(C) Both Articles 21 and 32

(D) None of the above

What is the period of notice required
to be served upon the Central
Government for filing a criminal
complaint by any person, under the
provisions of Environment
(Protection) Act, 1986 ?

(A) Not less than 30 days

(B) Not less than 60 days

(C) Not less than 90 days

(D) None of the above

Which one of the following cases is

considered as “High Water-mark

case in Forest Protection” decided by

the Supreme Court ?

(A) Salebhai Mulla Mohmadali Vs.
State of Gujarat.

(B) T.N. Godavarman Tirumulkpad
Vs. Union of India.

(C) Narmada Bachao Andolan Vs.
Union of India.

(D) Samatha Vs. State of Andhra
Pradesh.

The Parliament enacted the Water

(Prevention and Control of Pollution)

Act, 1974 for the control of water

pollution :

(A) On the request from States.

(B) Of his own.

(C) On the direction of United
Nations.

(D) On the direction of Supreme
Court.

Under which of the following Acrticle
of the Constitution of India, the
provisions regarding duty of the State
“to protect and improvement of
environment and safeguard the forest
and wildlife”, exist ?

(A) Article 51(g)

(B) Article 47

(C) Article 48-A

(D) None of the above

J-58-13



32.

33.

Aty - | THifeeR ST AEEs
IfeRT BT ST BT &, 39 Tapel
et e €, 3@ UBR g SMRITH
IR & o T[99 & =9 H I
FATE |

- 11 ; O Wb AT ST
T q I® TR qArAe v i
FHASIR H IqT § 3R AT Hig P
39 2afy § foar Sman € o '
SR e & Hord & |

(A) | % FN TSRS FcAl & 3T
ST &, etk || T & e i
fom @1 aren s &, Sae forw
T AT Tel € |

(B) wRd™ g diedr & 9RT 84 &
STTAR ST | 31 || el = € |

(C) 1l =iy Gfere &, Stafeh | haet
TUEAHR] HRE & |

(D) | 3 Il " Tel et & Heh AveA
1 1T A FRATE |

e % | T % 3T
(IGWUT, Haro & FE=on)  stufem,
1981 o ATATEROT (HTRTOT) SATEHIH, 1986
R R T 2

(A) 3FT=T 252

(B) 3T 253

(C) =% 250
(D) Swicfad ¥ ¥ &g Tal

fefetea wares =meE & "EAE
TRt § ¥ HE Y AR e
ST % AR W ARg § 2

(A) =TT S 3R, PO SR

(B) =TT 9O, et

(C) =i Foreia g

(D) AT SUA. HUT
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34.

35.

36.

37.

38.

IR Faue & Hefafed o=l §
¥ A " ST IUHa  gaed
=TT §RT aTdeRol & g9H & fow
T fohd T € 0

(A) 3FT=T 32

(B) =% 21

(C) =M aT=% 21 31X 32

(D) SHifefEd § d Hig el

FTATERUT  (GTRI0T)  ATUIH, 1986 F
T [ohd AR R SRR URaTs
TR FH & o1 BT THR B b
f&At b Aifeq STt & 9

(A) FF ¥ FHF 30 & F

(B) =" ¥ % 60 f&T

(C) =1 T &H 90 f&T =t

(D) Swifefad § ¥ %S el

fefafed a|t & § S @ a5 9

G & 9 H AR Faied =

% FRT “3fd Feweryur” Mo € 2

(A) FgoAE Hoofl HEAGSTAl S
TSR T

(B) ZiuA. TMemRyd fqeqehurs s g
R 99

(C) +THgT F=mell M=o s-M| YR
g

(D) T ST ST UL T

TEE 7 5o UgHUl H FEtEd wRA &

fow <1 (goer femer & e

artafTam, 1974 =t TiRa fHan

(A) T F ST W

(B) @A FHFRI

(C) TIe U 69 & e W

(D) HaT= <A % R W

fr=fefad # @ dfqam & g o=

% ST AT o FRT ATATRT GRET0T &

YR qAT o9 3R F=eiel GReT Frawy

et b1 Tree & 2

(A) =% 51(0)

(B) =T 47

(C) =% 48-A

(D) SwifarEd H ¥ s el
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39.

40.

Read Assertion (A) and Reason (R)
and with the help of codes given
below write the correct answer.
Assertion (A) : Under International
law extradition is mostly a
matter of bilateral treaties.
Reason (R) : There is no general
duty of States in respect of
extradition of criminals.
Codes :
(A) Both (A) and (R) are
individually true and (R) is the
correct explanation of (A).
Both  (A) and (R) are
individually true, but (R) is not
the correct explanation of (A).
(A) is true, but (R) is false.
(A) is false, but (R) is true.

(B)

(C)
(D)

Which of the following case does not

concern with the judgement that a

non-recognised State cannot sue in

the courts of the State which was not

recognised ?

(A) Russian Socialist Federated
Soviet Republic Vs. Cibraria.

(B) Guarantee Trust Company of
New York Vs. United States.

(©)

(D)

U.S. Vs. Pink.
Bank of Ethopia Vs. National
Bank of Egypt and Liquori.

41. Match List-1 with List-1l and select
the correct answer :
List—1 List— 11
(Name of the Case) (Principle
Propounded)
(@) The Caroline (i) Self-
case Defence
(b) The Nottebohm (ii) Effective
case Nationality
(c) Re Castioni (iii) Non-
case Extradition
of Political
Criminals
(d) U.S.Vs. (iv) Rule of
Rouscher Speciality
Codes :
@ () © (@
(A) (1) (i) (i) (iv)
(B) (iv) (iii) (i) (i)
(C) (i) (iv) () (i)
(D) (i) () (v) (iii)

Paper-I111
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42.

43.

44,

Match List-1 with List-1l and select
the correct answer :

List—1 List—11

(@) Australia and (i) New
Prussia Helarides
exercised joint
sovereignty over

(b) Great Britain (if) Schleswig
and France Holstein
exercised joint Anenburg
sovereignty over

(c) Great Britain (iii) Germany
exercised
sovereignty over

(d) In 1898 China (iv) Turkish
leased the district Island

of Kiaochow to

Codes :

@ () (© @
A (i) @) (v) (i)
(B) (i) (i) (i) (iv)

© (v) (i) G ()
D) (i) (v) @ (i)

Which of the following statements is
correct ?

A de-facto government is government :
(A) Whose origin and existence is
contrary to the Constitutional
law of the State concerned and
legality is challenged in
International law.

Whose origin and existence is in
conformity with the
Constitutional law of the State
represented and whose legality is
uncontested in International law.
Which exercise control over a
Foreign State.

Which has been forced to leave
the territory of its State due to
enemy occupation or civil war.

(B)

©)
(D)

Under which of the following Atrticle
of the U.N. Charter there is an
obligation to inform the Security
Council if the regional arrangements
take any enforcement action for
maintenance of peace and security ?
(A) Article 51 (B) Article 54
(C) Article107 (D) Article 108
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39.

40.

41.

Ffueher (A) #R T (R) 1 96T &R

e (A) iRl fafa & anf
UeqUuT  STfuehivId: fguefa Gfar
T JHAT € |

& (R) : TR & Tedor & Hee |
T[] T WHFT Hled T8l ¢ |

FT

(A) (A) 3R (R) 3THI-3TT ST Hel
£ 3T (R), (A) F T& A E |

(B) (A) 3R (R) 3TeTI-3TT JT Wl
%ﬁ?-—r(m, (A) H TEl =

|
(C) (A) T g, & (R) Toid & |
(D) (A) Terd &, Wi (R) T € |

ffafed & ¥ %9 @ qEed 39

U | gEEd @ g i s

T ST 39 IST & =ATerdl H IRl

TE T ST el & 2

(A) WA FifEueies heds
Tifaaa Rufsets s dreafar

(B) TREI T2 HUA! 3Nt ATh A
RRIECER

(C) Fud. o fush

(D) & 3 St S e 9%
3 The uve feent

TeAl-1 = G-Il ¥ gAlea ST S

T S HT I B
e - | = -1
(FERHAW) (A fagi)
(@) T FfeH &g (i) 3Teq &
(ii) ot
ST

(b) = e Hw

() st wa (i) ToriE
STORTTET ST

-7

(iv) ICMERKI
1 e

(d) FTH. AW I

F<:
@ () () ()
(A) (i) (i) (i) (iv)
(B) (iv) (iii) (i) (i)
(© (i) (v) () (i
(D) (i) () (v) (iii)
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42.

43.

44,

Tell-1 = G-Il ¥ gAlea ST S

&l ST 1 =TT BT ;
et - | il
(a) Fmeferan &R () 3
gREr. W
g’qaﬁwr@ﬁ
|
(b) defrm sivwm (i) @@
_ WEgw BT
TR T € TRt
(c) Wefoea (i) A
@A |
(d) ag 1898 Tdd==  (iv) fhg
fopeaiTE % ol B Y
R
WREAE |
HE :
@ (b (© (@
(A) (i) (1) (iv) (i)
(B) () (i) (iii) (iv)

(C) (iv) (iii) (i) (i)

(D) (i) (iv) () (i)

frfafad o 4 9 9 T EE § 2

T WHR T T TWHR &

(A) 5T 3qa IR s Fatad
T ! Fitaraen oty & ufde &
3 fSTaeht e 1 SR fafy
HFAM AL |

(B) TTaeht 39 3R 31fTed 39 TY
% Wiawgs fafa & e T,
oraem % fdffae #ar & 3
ol dyar iU fafg o
ffee &

(C) T forem T W =0T TEar ¥ |

(D) T ¥ & %ot a1 fafoet 35 &
FHROT 39 T & &7 Hl Sied &
fow ameg fepar T B |

JuA. WX & FElefEgd § @ #9 9
3T W, i 3T G T T& &
fow e oewen § wedd R
aTfetd BF o feafa & grem uRug =
ger foan ST S1fard & 2

(A) =I5l (B) W< 54
(C) =% 107 (D) 3 =% 108
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45.

46.

47.

48.

49,

In which one of the following cases

the permanent court of International

justice held, “it is a generally

acceptable principle of international

law that in relations, between

powers, who are contracting parties

to a treaty, the provisions of the

municipal law cannot prevail over

the treaty” ?

(A) Navlilaa Incident Case

(B) Greco, Bulgarian Communities
Case.

(C) Panevezys Saldutiskis Railway
Case

(D) Polish Postal Service Case

The wife’s sister’s daughter’s son
can be adopted. The adoption is

(A) void

(B) valid

(C) voidable

(D) none of the above

Kritrima Adoption is prevalent in
which areas of India ?

(A) Madras (B) Banaras
(C) Avadh (D) Mithila

In which case the Supreme Court

held that “Cohabitation leads to

presumption that person are living as

husband and wife” ?

(A) Balasubramaniyam Vs
Suruttayan AIR 1992 SC 756

(B) Seema Vs Ashwin Kumar AIR
2006 SC 1158

(C) Vishnu Prakash Vs Sheela
Devi (2001) 4 SCC 729

(D) None of the above.

In which of the case, the Supreme

Court held that it is desirable that “all

marriages should be Compulsorily

Registered in the State, where they

are solemnized” ?

(A) S. Nagalingam Vs. Sivagani
AIR (2001) SC 3576

(B) Shanti Dev Berma Vs K.P.
Devi AIR (1991) SC 816

(C) Seema Vs Ashwin Kumar AIR
2006 SC 1158

(D) None of the above

Paper-I111
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50.

ol.

52.

53.

54,

Rules relating to prohibited degrees
are based on the principle of

(A) Monogamy (B) Polygamy
(C) Exogamy (D) Endogamy

In Islamic Law, marriage is both
‘Ibadt’ and ‘Mammulat’. Who said
this ?

(A)  Amir Ali Justice

(B) Dr. Fayzee

(C) Abdur-Rahim

(D) Mahmood Justice

A Muslim husband can delegate his
right of Talaq to

(A) Any other person

(B) Wife only

(C) Both (A) and (B)

(D) None of the above

A Muslim minor wife can cease her
right to repudiate the marriage in
case :

(A) when she attained the age of
puberty.

(B) when the marriage was
consummated before attaining
the age of puberty.

(C) when she is less than 18 years
of age.

(D) none of the above.

Find correct answer using codes
given below :

Following are main approaches to
explain nature and meaning of
human rights :

(i)  The scientific right theory

(i)  The moral right theory

(iii) The natural right theory

(iv) The legal right theory

Codes :

(A) (i) and (ii) are correct.

(B) (i) and (iii) are correct.

(C) (i) and (iv) are correct.

(D) (iv) and (i) are correct.
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45.

46.

47.

48.

49.

feffeg @ 9 o9 @ 790 9 @&
aﬁw@awﬁ%ﬁﬂhm%%ﬁ

T
%W%WWW%
dre el @ g § R aifees oty &
U WY FA T AR el & Tehel &7 2
(A) et TR %

(B) Uehl, TAINTT FHIAISNT

(C) U Hoggicafry (ote Hd

(D) TifereT URee Wiaw e

Ul H Ted B TSH F YT R IR
TEUT TS T | STk UROT R BN 2
(A) A

(B) @

(C) wpwvE

(D) T 9 HIE &

“SHAAT TTh Tev” e gET & fohE W
¥ foemme € 2
(A) ==
(C) 3=

(B) == RE
(D) faferem

g T § STuay =g | uidaned

fopan & o SUeRon € o Teard A aret

afeT AT I 7

(A) T GeRMETIE S &
AIR 1992 SC 756

(B) T T 31¥ea FHR AIR 2006
SC 1158

(C) Taw wepreT s- ¥fteT et (2001)
4 SCC 729

(D) TI9 & FIE &

= 4 ¥ 9 9% 9 STaaq =R o

yfquiiea frar € fo6 o8 aifeq € & ot

foramel &1 e UsTeon &, &7 T §

STeT o Tr g3 ¢ 2

(A) TH. AN §HE GErEr AIR
2001 SC 3576

(B) It 3 STHT S AT 3et AIR
1991 SC 816

(C) i o= 31fva FAR AIR 2006
SC 1158

(D) T 9 HIE &
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50.

ol.

52.

53.

54,

yiqoy feit @ atua Fem g fagia
W SN € 2
(A) T foarE (B) wgfaaw

(C) fovidg faame (D) TSI foame

TAHE fafs § g wud TR & 2
“fgaTE T 3ART U HqEAd € 17 I8
foram et 2

(A) TR 3Tl g

(B) EI. Wit

(C) o™

(D) Wz Sfeew

F TH TEOEME id O T
ST TN T HHel & 2

(A) gt 3R =T i
(B) et U

(C) =HI(A)Td (B) =
(D) T ¥ fordlt it &t

T STeah Ut foaTe & R

MR el FHT Al & 2

(A) ST T AR 37T W FT A |

(B) S =& AEHRY Y W - &
el faare didafy g S |

(C) S dg 18 a4 & 3 & FH &l |

(D) T ¥ HiE Tl

e T TN A G el 3T T
=1 Ae fueRl & WET T 7 H
HEH aTel T AT §

(i) oFH PR agTd

(ii) s arfusr fagia

(iii) wTRid® AfeR faga

(iv) Tafuss s fasia

FT:

(A) (i) 3R (i) T E |

(B) (i) i (iii) W& & |

(C) (iii) 3R (iv) W& & |

(D) (iv) 3R (i) T & |
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55.

56.

S7.

Paper-I111

Read Assertion (A) and Reason (R).
Find correct answer using codes
given below :

Assertion (A) : The purpose of
Human Rights is to provide
protection against the abuse of
power committed by the organs
of State.

Reason (R) : Due to absence of Lok
Pal the misuse of power by the
State cannot be effectively
checked.

Codes :

(A) (A) and (R) are correct and (R)
Is correct explanation of (A).

(B) (A) and (R) are correct, but (R)
is not correct explanation of
(A).

(C) (A)istrue and (R) is false.

(D) (A)is false and (R) is true.

Match item in Table-A with items in
Table-B using codes given below :

Table - A Table-B

(@) The first (i) Idealistic
generation of Theory of
Human Rights Law

(b) The second (i) Collective
generation of Rights
Human Rights

(c) The third (iii) Civil and
generation of Political
Human Rights Rights

(d) Theoretical (iv) Economic,
approach to Social and
Human Rights Cultural

Rights

Codes :
@ () () ()

(A) (i) (i) (i) (iv)

(B) (iii) (iv) (i) (i)

(C) (v) (i) (i) (i)

(D) (i) (v) (i) (i)

In Indian Constitution, Civil and

Political Rights given in its

(A) Partll (B) Partlll

(C) PartlVv (D) PartIX

16

58.

59.

60.

“No one shall be subjected to
arbitrary arrest, detention or exile.”
Above law is in

Article 21 of the
Constitution

(B) Criminal Procedure Code
(C) Civil Procedure Code

(D) Article 9 of the Universal
Declaration of Human Rights

(A) Indian

Read Assertion (A) and Reason (R)
and find correct answer using codes
given below :

Assertion (A) : Advancement of
rights of women has been the
concern of world community
since the end of Second World
War.

Reason (R) : In Second World War,
population of men was
significantly decreased.

Codes :

(A) (A) and (R) are true and (R) is
correct explanation of (A).

(B) (A) and (R) are true, but (R) is
not correct explanation of (A).

(C) (A)istrue and (R) is false.

(D) (A) is false, but (R) is true.

Read Assertion (A) and Reason (R)
and find correct answer using codes
given below :

Assertion (A) : The child must be
given the means requisite for
his normal development, both
materially and spiritually.

Reason (R) : Spirituality is material
and material is spiritual.

Codes :

(A) (A) and (R) are true and (R) is
correct explanation of (A).

(B) (A) and (R) are true, but (R) is
not correct explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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55.

56.

S7.

F (A) 3 HRUT (R) I UlgT qer

9 U g He *H TeEar d Tl

TLIHOT i G BT |

FUT (A) : T F M FRT AEA
ARPRT % & W W fHerar
T

FHROT (R) : A6 T & T T5F I &1
TS WIfRTAT T GEUANT TS T I
ERIESE Rl

C T

(A) (A) 3R (R) 3HI W&l € 3R (R),
(A) FT T& TEEHT ¢ |

(B) (A) iR (R) sHi Wl €, = (R),
(A) T TET TR & € |

(C) (A) W& 3R (R)Tod & |

(D) (A) 7o & 3R (R) W& € |

et - A 31X difeter - B i gferd

FINT SR A 5T e B TedT ¥ 3T

HISPHE

wr%mr-A
(a) AFT THER
i T gt

afeteeT - B
Q) fafa o
g eTantEar
EARE:EA)
(i) wmfess
SRR

(iii) faferet Tom
REEIIRED
PR

(d) dgifae sarE  (iv) ST,
Ha [T qe

ESireaED

AR

(b) = SR
&t Tz gt
(c) AFaT MTFR
i et it

T4

@ (b (© (@
(A) () (i) (i) (iv)
(B) (iii) (iv) (i) (i)
(C) (iv) (i) (i) (i)
(D) (i) (iv) (i) (i)
O & Giau™ | fqfaer i o
YRR fohg 9§ i3 = & 2
(A) w I (B) Il
(C) IV (D) T IX
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58.

59.

60.

“spig ff =T aAghes®, Y qur 9
e & et /i e 17

SURIRT foher fafer 7 & 2

(A) TR Faum 1 ST 21
(B) TUS ufskam Hfear

(C) <o ufskar Gfear

(D) THANYHR &S =90, 1948

HT T 9

FUT (A) 3 HROT (R) F 9feT 3R FH

! TETIA H e I AT |

FHUF (A) : TN favegs & a5 ¥ feat
H IAM b AN A fova TREE
T F

HROT (R) : W fovegs o qu9 @i
SHEE Sgd 9 TE of |

%!

(A) (A) 3R (R) SHI @&l € & (R),
(A) T TEl LT & |

(B) (A) &R (R) I @l &, oy (R),
(A) T & TSR] TE E |

(C) (A) e, g (R) W T ¢ |

(D) (A)We =& ¢, g (R) eI & |

A (A) 3R % (R) i ufet i)

53 gT Pz T FerEd § el IR MY |

At (A) : B & 396 AFraS
AR oA I ok HERT
fapre & foro oruferd giaem <t
ST e |

& (R) : amenicrs Qi & 3 QA
AR € |

FE :

(A) (A) 3R (R) @l & @ (R), (A)
T G TR & |

(B) (A) 3R (R) @&, T (R), (A)
T TE THEIHT T8l & |

(C) (A) W&, W (R) T Tl ¢ |

(D) (A) W& &g, W™ (R) W ¢ |
Paper-111



61.

62.

63.

State  which of the
statements is incorrect ?

following

(A) Liability in tort arises from
breach of duty primarily fixed
by law.

(B) The duty, breach of which
results in tortious liability, is
towards the public generally.

(C) The duty, breach of which
results in liability in tort, is
towards some person in
particular.

(D) The breach of duty, which
results in liability in tort, is
redressable by an action for
unliquidated damages.

The plaintiff was watching a cricket
match at a stadium organized by the
Cricket Club of India. He was
seriously injured by a mighty hit
from the batsman. In this case, who
is liable to pay the damages to the
plaintiff ?

(A) The Batsman

(B) The Cricket Club of India
(C) Both (A) and (B) above
(D) None of the above

Which one of the following sets
correctly identifies the specific
defence available in an action for
defamation ?

(A) Privilege, Truth, Fair comment.

(B) Privilege, Mistake,
comment.

(C) Truth, Mistake, Fair comment.
(D) Truth, Privilege, Mistake.

Fair
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64.

65.

Read Assertion (A) and Reason (R)
and with the help of codes given
below, point out the correct
explanation.

Assertion (A) : Pleading lack of
intention to defame someone
does not absolve one from
liability for defamation.

Reason (R) The essence of
defamation lies in the lowering
a person in the estimation of
the right thinking members of
the society, even without
intention.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) : In India, defendants
collecting water in reservoirs
have not been held liable for
damage caused due to the
escape of water from these
reservoirs in  absence of
negligence.

Reason (R) : The rule of strict
liability laid down in Rylands
Vs Fletcher case has been held
to be not applicable in India.

Select the correct answer using the

codes given below ;

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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61.

62.

63.

fAfefad ot 5 | S |1 HAT Ted
g2

(A) fafa sr1 gd Feifa wedea-m 4
3P | e ST AT § |

(B) TE wied, ST O A ¥ STupd
M IO BT €, S
T AT S Ui BT € |

(C) I =i, ST O 7 ¥ U
A e Sea el €, $9 foe
ATl & Ud BT € |

(D) @ FHAA-HT H G FT |
T IO B €, AfeRa
fyfa o forar ram! gRT fHamor
BATE |

al, The ol 3 EveaAr gRI
AT Teh shiei | fshehe 89 39 @1
ol | FeETST &l STRGR WER % HRUT g8
TRET ¥ =i 8 T | 39 9l o
AT BT YT 37 & o1 BiF SRS
T2

(A)  Soetarst

(B) Tohohe FoAer 3w o

(C) SugeH (A) T (B) I

(D) SUgH | ¥ Hig TEl

ffafed Tel § ¥ M U Al &
FEaE! & foa ey fafere s=ma &
TUE T AT T e € 2

(A) foRE®R, Todr, Stad 2ie-
feoqoty

(B) fomiiieep, oJot, 3tera Zienr-feoqot
(C) Hewra, 9o, 3far Zrepr-femoit
(D) e, foRreem, oot
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64. T (A) 3R FROT (R) Tl Uigd qem

65.

fTd TC T A TR T Gel TR

i e T

U (A) : Tg eaeq o Tt o
eI fomr 3o | 1 T E, 39
TR T AT o el d o
TE AT E |

HRUT (R) : T 1 9K, fhdt At
H GES 6 TE qE & T5= F
AT | A T, 9ol € T

3T e & &, erarerd € |
HT
(A) (A) 3T (R) g1 &l & 31 (R),
(A) FT TEl T ¢ |

(B) (A) ¥R (R) FHI Wl & 3R (R),
(A) T TE TIELHIT TET & |

(C) (A) e, W (R) T & |
(D) (A) Terd & W= (R) W&l & |

FHU (A) : 9RA T, SUT i Farefa
T SemREl ¥ UEl % eEd %
FEEY §E & o o ST
H M ThiEd S ol wiaanear
T TR T&l e T E |

FROT (R) : F8 AT o € fo
TNV A FleR & ] H
Hiquied HeR IE w1 FEH
IR § AN T € |

T 5 T Fe F TWEA T T IW

EIT'H%'&:

%!

(A) (A) 3R (R) ST @&t & a1 (R),
(A) T TEl T € |

(B) (A) 3R (R) =T @&l & oAl
(R), (A) =1 T&l TIZHT Tal & |

(C) (A)Te &, wifer (R) o € |
(D) (A) Terd &, Wl (R) W € |
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66.

67.

Assertion (A) : In tort of nuisance,
interference by the defendant
may cause damage to the
plaintiff’s property or personal
discomfort in the enjoyment of
property.

Reason (R) : Every interference in
the wuse of property is a
nuisance.

Select the correct answer using the

codes given below :

Codes :

(A) Both (A) and (R) are

individually true and (R) is the

correct explanation of (A).

Both  (A) and (R) are

individually true, but (R) is not

the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

(B)
(®)
(D)

Match List-1 with List-11 and indicate
the correct answer using the codes

given below :
List— 1| List—11
(@) Composition (i) Section 10,
of the District C.P. Act

Forum

(b) Complaintto be (ii) Section 17,
accompanied by C.P. Act
court fee

(c) Jurisdiction of
the State
Commission

(d) Appeals from
National
Commission
to the Supreme
Court

Codes :

@@ () (© ()
(A) () () (i) (iv)
B) () (v) (i) (iii)
(C) (i) (iv) (i) (i)
(D) (iv) (i) (i) ()

(iii) Section 23,
C.P. Act

(iv) Section 12(2)
C.P. Act
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68.

69.

Find correct legal principle from
following statements :

(A) A company may do an act which
is necessary for or incidental to
the attainment of its objects or
which is  otherwise  not
authorized by the Act.

A company may not do an act
which is necessary for or
incidental to the attainment of
its objects which is otherwise
not authorized by the Act.

A company may do an act
which is necessary for or
incidental to the attainment of
its objects or which is otherwise
authorized by the Act.

A company may do an act
which is unnecessary for or not
incidental to attainment of its
goals or which is otherwise
barred by the Act.

Match items from Table-A with
items in Table-B, using codes given
below :

(B)

(©)

(D)

Table - A Table-B

(@) Lakshmi (i) Director’s
Ratan Cotton duty of
Mills Vs. J.K. care,
Jute Mills Co., diligence
AIR1957 All and skill
311

(b) Automatic (i) Statutory
Self-cleansing protection
Filter to Directors
Syndicate Co. against
Ltd. Vs. liability
Cuninghame,

(1906) 2 Ch.34
(c) G.Ramesh Vs.
ROC, (2007)
135 Comp Cas
655
(d) City Equitable

(iii) Powers of
Directors

(iv) Scope of

Fire Insurance authority of
Company, Re, Directors
(1924) All E
Rep 485

Codes :

@ O © (d)
(A) (iv) (i) (i) (i)

(B) (i) (i) (i) (iv)
(€ () (@) (v) (i)
(D) () (iv) (i) (i)
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66. HUAT (A) : STAT P NUHH H, U]
% T ¥ A B T T
Tfd % ST W gE oAt
STGITET % FoTawy &I B &l
Tt § |

HRUT (R) : 9Hd & 30T | TS
TEAET 3T & |

a5 T Fe H WEA T T IW

HISPR

ETE

(A) (A) R (R) i W@l & 3R (R),
(A) T TET T ¢ |

(B) (A) 2R (R) S Tel €, oAl
(R), (A) FT Tel TILIH0T F&l & |

(C) (A) Wl &, wifeh (R) Tor & |

(D) (A) 7o &, Wi (R) MRl & |

67. A1 & W gEI-1l H GAT Hirord

T A G T B Werdar § Wl
S I
= - | =t - 1
(@) Semwra®H (i) w10,
T ST
T
ST
(b) WRERFE@TT (i) 9RT17,
AT e SO
Ter e T ST TRIT
arfafey
() TSmImmMH (i) &m 23,
ST SUTERAT
HLRIT
CCIE R
(d) T emmd  (iv) &R 12(2),
S AT ST
T 7dret HTRT0T
ST
—

@ (0 (© (d
(A) (1) () (i) (iv)
(B) () (v) (i) (iii)
(C) (@) (v) (i) (iii)
(D) (iv) (i) (i) ()
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68.

69.

fafefea ot 9 we fatusw fagia

AT

(A) S FHE TH FA B 8, SN qh
Ecteicopiicaeic A cicrEC
T WEATeR & 3T ST SR R
3T W el € |

(B) T U UM FT T H, S THF
SR W AW W & o
MEYT AT U €, 5 AfafEe
FRT 3T Wil el |

(C) @ HUl TET HT R, ST TTH
T T U S & [T 279 ah
7 urEfiTs € oren S ertufEm
FRT 3= Uil & | .

(D) oPE AT THT P Y S 5B AT
F W B & [T eI T
TGRSR & 27ear T 1 eAfafam
ST 31 Uk oNME 75 & |

AAFT-A I HEl 1 dlfeTHT-B i 7T

gafed itvte, fag e i T %t &

TN HITT
aqfeT-A aifeeT-B

(@) oI T Hied (i) Qe
e 9™ S, gfeem v
TR 1957 T IEEEIRCD
3TE TS 311 FHae

(b) oTemicE Aeh- (i) ST H
FATTT e oo
faEiehe St o, IEESIETRCA
AT HET it
(1906) 2 3T T

34
(c) stwmam (i) FezmEn &
FARIAHL (2007) MIEspIl
135 %7, 655 .

(d) FErsfEese  (iv) Fewme &
T E9INT TTTeehr
HUT, 3NE HreT

(1924) T 3T
3TE € R 485
FHT
(@ (0 (© ()
(A) (iv) (i) (i) (i)
(B) (i) (i) (i) (iv)
(©) () (@) (v) (i)
(D) () (v) (i) (i)
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70.

71.

72.

Read Assertion (A) and Reason (R)

and with help of codes given below,

point out the correct explanation.

Assertion (A) : A contract of sale
may be absolute or conditional.

Reason (R) : There is no absolute
condition for a contract of sale.

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

“Where under a contract of sale the
property in the goods is transferred
from the seller to the buyer, the
contract is called a sale, but where
the transfer of the property in the
goods is to take place at a future time
or subject to some condition
thereafter to be fulfilled, the contract
is called an agreement to sell.”

Read above statement and find
correct answer, using codes given
below :

Codes :

(A) Contract of sale is conditional.

(B) Contract of agreement to sell is
conditional.

(C) There is no difference between
sale and agreement to sell, as
both are contracts.

(D) Sale is a contract, agreement to
sell is not a contract.

Essential feature of a partnership is

(i)  Agreement

(i)  Object to carry on a business

(iii) To share profits

(iv) Business is to be carried by all
or any of them acting for all.

Codes :

(A) Only (i) is correct.

(B) Only (i) and (ii) are correct.

(C) Only (i), (ii) and (iii) are
correct.

(D) All of above are correct

73.

74.

75.
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Find the correct legal statement from

following statements :

(A) Every partner is liable,
severally with all the other
partners and jointly for all acts
of the firm done while he is a
partner.

(B) Every partner is liable, jointly
with all the other partners and
severally for all acts of the firm
done while he is a partner.

(C) Every partner is liable only for
acts done by him as acts of the
firm done while he is a partner.

(D) Sleeping partner is not liable
for acts done by him as acts of
the firm done while he is a
partner.

Read Assertion (A) and Reason (R)

and with help of codes given below,

point out the correct explanation.

Assertion (A) : It is the duty of the
banker to be acquainted with
the customer’s handwriting.

Reason (R) : A banker must be hand
writing expert.

Codes :

(A) Both (A) and (R) are true and
(R) is correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

When a negotiable instrument is
dishonoured, the party liable to pay,
becomes bound to pay compensation
o

(A) The bank

(B) The endorser

(C) Holder or endorsee
(D) The Court
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70.

71.

72.

Mg (A) 3R @ (R) & Ul 3

T ST T et H TEEdT U Tt AR

i fagia Sife

afirmerm (A) : fosht & dfagr got an
T &1 Thel T |

T (R) : fosht =i wferr o forg =g gof
I TR E |

A

(A) (A) 3R (R) ST Wl € &R (R),
(A) =l &l AT |

(B) (A) 3R (R) =M Wel €, <At
(R), (A) =l W&l = Tl & |

(C) (A) Wl &, W (R) ToAd & |

(D) (A) TToid &, ek (R) &t € |

“ofs ferhl bt =T % T AT % w9

o Fufe feshar @ shal i AdNa i Sl

€ 1 29 GfereT i Tkl ed &, el g

oA o €T § YU 1 RO JosT |

o ST 3R 39F 9% TS Id [

FH W FE TSRl ® SO, TE HOe

TSToht =T I SPeeTaT |7
Fo 1 UfeT R A 5T T e

1 JTINT Tl U TN IR T

%

(A) fosht i Tl T T |

(B) fomhl & R ot Tfert W9 & |

(C) fosht 2R fosht R & #Ig 3
TEl & it AT HieRTd € |

(D) fosht Wfa=T &, WAl fashl 1 =R
Hfers T&t & |

qIMERY bt 3tfard foeeen &

(i) =W

(i) W&Tﬁaﬂ‘ﬁﬁ?ﬁ

(iii) o™ 1 YRR g

(iv) SRER T gR1 a1 o & o
HE HE A 39 9 R gRr
foman som

A
(A) e (i) T E |

(B) et (i) 3T (ii) W & |
(C) == (i), (ii) 2R (jii) W & |
(D) SUgT T W € |

73.

74.

75.
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frafeafad womt @ @@ fafus Fom

ER1EL

(A) YEF qIER 3 G qIERT &
Y M- HER Bl €
3 9FIRR & g¢ &4 & fou o
ot F@ % o 9y w7 9
SRR g & |

(B) V% WMER o Tl WiieRl &
Y G w0 9 SRR gl §
3 YFIRR & g¢ &4 & fu Tr
Tt FEi & fow STem-stem
SRR g ¢ |

(C) ¥R 9MER, VKR &d §T &
% fpu MU W F& F @O
SRR e ¢ |

(D) TfSFa YFIRR, 9FRR W& §T wY
%TWW%WW

|

e (A) 3R % (R) i ufer i)

T ST T Fel B FerEd ¥ TE A

T

AHAT (A) © T8 T A A § 5
I Ueh ! feramae A aRfed & |

T (R) : S o for@mee faemst g
M |

ETE

(A) (A) ¥R (R) sHI Wl & &1 (R),
(A) F el AT E |

(B) (A) 3R (R) THI Tl & e
(R), (A) =l W&l = F&l & |

(C) (A) Wl &, &I (R) Toid & |

(D) (A)Terd &, e (R) Wl & |

i Wehng foigd ol STEHR AT S
g O 98 YR FETatEd Bl geiesT
3TRT T, YITEST 37 % feTw aresr g
(A) o5

(B) TR

(C) R a1 gaifehelt

(D) =
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